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SBI Clerk Prelims (Memory Based Papers) 2022 Mock 01

Directions (1-4):%EWTH?%W%%%‘QWWF&%T%WW FETT HL

Rt i U Afrd gear et W dftr & dodt g o 39 ot w1 g Sae fRem it s 81 RS M &
= Zg =T dod 81 A, M % 10 | TTHL TIT9 92 93dT7 g1 C, R | d19 £419 g 93aT1 gl E 3T C & &= u#
=<k 954t 81 E, R aATS 3T SaT 8, AT 31 910 qg! 93aT gl E 37T R = S5 aTer ARa1 i §E&T,
B 3% E & 1= a5+ a1l sARAl i H%aT F q97 81 B, T T UHATT ST g1 T F arff 37T 9% =aftwpat &
AT, M % ITAT AT 95 AR il §&4T & &7 w7 g1 K w7 X a2 937 8|

QL. T dfr A Fran =r ¥ §7
(a) 22
(b) 21
(c) 20
(d) 23
(e) 19

Q2. Rwrfafea & & #19 K F 919 § Ti=a &1 X 93T 872
(@ E

(b) C

(R

(d)A

(e) =H & FIE LT

Q3. T% v+ ® E T T[T F4T §?
BERIEREES
DERIESSRIEEL
(c) T & 7 T
GERIERGEIRI
(e) 3Tk =T

Test
Q4. e oiwr & & 9= U fAftm o8 & aam g ofix mfom ’m
T 99g 991a 3| Mufofaa 9 & 9 59 a9g ¥ g&faq T51 872
(2) B ALL EXAMS,

(b) E ONE SUBSCRIPTION.
(e C

)T G)

(e)R
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Directions (5-8): =R STt 1 s sreaas ¥ i fRw 1w it 3 ;e d)
798XE&MS46RO5U#NQ2€H%61PK3A@

Q5. Ifx @aT & Tt Tfal & TT FRAT TT, AY 7 ATEAT | 4T A7 T I AR A 107 FR?
(a) 4

(b) 6

(c)N

(d)Z

(e)%ﬂﬁ@fﬁiqﬁ

Q6. T TS FE«T H VA Fhae Teiih & orreh 3tk T8 T o 3% 3t I3 T §&AT 872
(a) T TEH

(b) T=

()&t

(d) i

(e) =X

Q7. &t TS AT # UHT fohaeT G § o S T8 T 6T $iX S 18 U e g7
(a) 1< TEH

(b) T

(c) =T

(d) 1=

(e) =X

Q8. Ruferfea & & it |7 7 918 ST A 113 F&1< F 914 § R &1 9 g2
(a)K

() Q

(M

(d) A

(e)%‘*ﬁ@fﬁﬂﬁ

Directions (9-13): R 71T 7w F S 3 F forw Aufafed serdt &1 sargas steaa w3

T ATh T UG i<k § S0 T 95d & 1o T qi<h § 979 =F1<h 95d gl 4t 1 H-P,Q, R, SHAXTE
ST Fferor T AT I AT 9 g Sdieh uich 2 H- A, B, C, D 3ii¥ E g 3T I 0 3T I7@ 1< 99 gl Uf=h
1 ¥ 9 ARAT &1 q@ 4k 2 § 9 AR il 3T g 31T TAT &l 396 (Su<id A1 g1 AT @ 3H Af<h &l 3
S ST T 3 a1 & T T 92 937 81 A 3T B 19 &1 A< 946 8| B % 970 § O ©IF 9¥ 98 Af<h %7 4@
P % & 918 95 =T<h T A g1 T i R % 1= a1 § arferss =7f~6 95 g1 D, CRwar @ Q it A 481 &, F
ATT | TEL AT I I27 &
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Q. M & & #19 Q & ¥ & T T WX AT 7
(@S

(b) P

(AR

(d)IFTATRATS

(e)ATATPATS

Q10. FafefEa & & i\ au/& 99 97 81372
(a) T & 3fers =ik B % 212 AL d3d &
(b)CAFTBFIFm AT H I3T 8
()P, QF AT T3T ¢

(d) B #i¥ E % i %< Al 92T 5
QEEIEE

Q11. FRfarfe wiwr # & = u fAfaa 7% & wwm € o @i o @pg aama §) _Refiea § & =
39 T q gt T8l 82

(a) P

(b)Q

(c)A

(A E

(e)T

Q12. Mwferfera # & #I9 R sl S7{@ §?
(@)D
(b)A

(cC
(d)E

(e)%ﬂﬁ@fﬁﬂﬁ

Q13. Q 3T A F AT I @ AF & WA Tohaw =ATw 9 §7
(a) FTE T

(b) =T

(c) &=

(d) T

() 3T & g T

Directions (14-15): fT 77T 711 % IR 39 * forg Maforfea smasrd 1 samg@ e sreaas &<

U AT &g X & I3 &7 § F47 0% F2aT 8, 10 HeZ F & 978 9g (69g T I & a1l gl [Fg T, a8
SH S AqaT g iR g M agaar gl s, g Ma ag afsm Remd s frexsaar g iR g U@
TEAdT gl A8 ° 98 94 QT § 12 HieT FaaT g oY f6g K, ST g R % 3¢ # 13 Hiex 12 g, 9% ug+ar g
g R¥ ag @ Qo # 9 Hiex Fofar g 3w f6g S 9w ug=ar g
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Q14.Sg sHa=v A g K fFvg ke & &2
(a) STE-TF

(b) =faror

CEsEIEE

(d) =teror-gfarm

ORIEE

Q15. g U i &g T ¥ W =pmaw T fFa=t 82
(a) 13 #T.

(b) 5V13 .

(c) 89 #t

(d) v89 Ht

(e) Frertia =2t o ST Jrahar

Q16. 71 €&AT "32547685" § TAF GH & § 1 SIET SATAT g L TAF [GUH &% § 2 HESHT ATAT &, A A
THTE I A% Gear § fohae sis U O rferr a7< smaar?

(a) T

(b) 1=

(=

(d) F7E =T

@ﬁﬁﬁﬁﬁﬁqa

Directions (17-18): 9 T ¥ ®u«1 & AT qcdl & S Gaier T ITAT AT g1 FI1 & 918 Aoy [y
T g1 T T o o S 9 At v srema= Y S} a8t S H 9T H

Q17.

T

M=B=zV, C=B=Z;K=]<?
sy

: V=Z

II: J<C

(a) of% Fae AT 19T B

(b) = Faer AR 1197 §
(AT AT (AT HA B
ORiEEEREECIEREEIR
(e) =fe fAoh [ T 11 ST 97 8
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Q18.
& ed:

QzE=T;Y=1<T:D>I=F
e
I 1=0Q

II: D=Y

(a) IR Faet T [ 9T ¢

(b) 7% Faer MRy [1 9T &
GRIERIKAREC R
(dazaar At Isieagrnaa g
(e) TT= THeh [ 3T 1 AT AT 8

Directions (19-23): Fafafera s &1 eamagE® sreaa #3 i {= fRw 1w v F s &

AT AE P,Q, R, S, T, U 3fIT V UF 7-HTHIET () THILT il AT-3AT HISTAT T T &, AToheT STELT Agl 1oh
THTT FF | gil qa &l Tgedl WISl o &9 § [T ST 8, S0 ST T AT/ Tl T WIS & &9 § [T
STTAT & S THT THIT HaE UL Hoe/qe &l 731 o o &9 § {7 S[1ar gl

P U o HeaT aTeit HioTel 9% LAl g i Arel Hiolel § H9¥ gaT gl P ¥ U % &= o9 =4f<h &d gl
R #T U &1 s 78! Tgar g1 T, V, ST S & 3t SHU< W3al g, ¥ &l Hierel 39¥ LgdT 2l

Q19. P 31T Q * e fhaT A iSrei/aet =71 3fa< &2
(a) T®

(b) FT< TRt

(c) =T

(d) =

(e) = & rfers

Q20. Rzferfea = # ¥ 9= us Mz ad & g9 § i 4o F v a3g a91d 8| Refea 3 a &=
9 9Yg ¥ g&tq A5l 57

(@Q

(b)U

QT

(AP

(e)S

Q21. FferfEa & & &7 a1 = a7 872
1.V, U & |fore/aer & == Tgar g

IL. Q & = =< el Tgar g

I11. U 3f% V % &= a1 gioreni/aent &7 3fax
(a) & 111

(b) I1 3T 11 T

(c) &Y I, 11 3 111

(d) F=e 11

() 1<t 77 T €
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Q22. V& = forawr =af<r T8 87
(a) 1

(b) =T

(c) =TT

(d) o=

(e)%ﬂﬁ@f?ﬁiﬂ—ﬁ

Q23. Rwrfarfera & & swiRedl &1 I AT /W TF 99 HCAT qTaAl HiSra/qer I TgaT 872
@QVv

(b)RQ

() T,V

(d)R,P

OEEEEIEGE

Directions (24-26): = faT 7T 71 ®# & FI7 i S 912 T A= fw 1@ 81 sroar fRw 1@ heeiy
T T AT g, A g T FAA1q et o T4 v grar gil ot fAeest i 78 ok e ar < & Ru g
et § § FI19 97 F99 R T FAAT 1 qUlfehen T F ST FGT §, A gt Ga=Ard a7 7 gl

Q24. FI:

A T TohaTd, FAT 5

T FIUT, FH &

Fls TATel, FAT A8l &

Ao

. % TohaTe, STl 951 &

1. TT T Feft TATET AT BT THAT &
(a) =T AT AR [ 97 11 a0 2l &
(b) Faer R 11 a0 FaT 5

(c) Faer Ao [ w0 FXdr &

(d) = [ 3% 11 ST SITH0 Fldl &
(e) T T fAehe [ 37 7 &1 11 T a0 FaT &

Q25. HY:

FAA T AT, g7 §
T, T &

IELCO R

. % AT, 9 a1 @

I T T, 5% 2 9 &

(a) =T AT AR [ 97 11 a0 F:2am g
(b) Faer AR 11 FTET0r Fam g
(c) Faer Ao [ <o F2ar g

(d) = 1 3% 11 ST SITa0T F3d &
(e) T T Ao [ 37 7 &1 11 ST a0 T §
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Q26. FI:

FAA Fg AT, AT §

FAA Fg AT, AT §

Ao

I T T, %2 T8l §

1L 94T 9%, TaT 8

(a) =T T MRS [ A7 11 STTH T &
(b) Fae T 11 TTHLT FaTl &

(c) Faet TAehT [ STTHT FAT &

(d) 9= 1 3% 11 AT ST 3l &
(e) T a1 [ [ 3T T & 11 a2 F3aT g

Directions (27-31): Ruferfea ST #7 samg@da sreaae < T = fag 1o o F s &

ATT ATH A, B, C, D, E, F 3T G TH JATHIT A % AT AT 9 & AT THT FT @ g il AT g AR AT
AT Al o I THI %F § 11 F, A | I T T &1 gl C, B, ST A X F & UTH A5l 937 &, & 913 | gL
AT 9T 93T gl G, D, ST C 3 Hehe 981 93T 8, % 214 | L €79 9T 927 g1 A 3% E % 19 U | (4 Ah
5 21 (I AR )

Q27. Fafeifera # & i B %7 Aseaw TsiHt 872
(@) G
(b C
(QE
(d)F
(e)A

Q28.EF T ¥ fiM+ 91X G 3l E % wex favaer Afe 95 87
(@) U=

(b) =T

(c) FE Tl

(d) =T

(e) q=

Q29. FAwffa & & F a1 AARF G ¥ rF F =3 v W AT 2
(a)E

(b) B

@A

(dc

(e) TH & TS AL


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

Q30.D F T~ | F & €T FT &2
(a) ITE 3T | AT

(b) ITE AT | TEI

() TTE 3T | qHT

(d) T2 AT 7 AT

OEEEL

Q31. Rzt o= & & 9 us [z 7% & g+ § o safore 3 us avg a9 8| R d a =
I T q qefeT Tl &2

(@)D, F

(b) A, C

(c)G,B

(d)E,C

(e)F,B

Directions (32-33): R 7T w5 & S9< 3 & forg Ml st &1 samqa s sreqae #i¢%:

U IHET § 1 edt grdt ¢l F, D, SEaT Faer s 918 8, F d9-39-1 g, | H, T FT Fa<-39-a1 g < D
T Strarareft 81 H#T1 #1E qré-aaa 72l 21 S, E, ST G #7 A7 g, 1 719 21 G, T F "aree (|rs-ag) f a8 2

Q32. T, E ¥ fre we "sfea 87
(a) &=
(b) @<
(c) sihet
(d) s
(e) Frertia w21 o ST JehaT 8

Q33. Fwferfea & & #19 F &t Tt 872
(@D

(b) G

@S

(d)FTaAADATS

(e)IATATGATS

Q34. 15T 'DRAWINGS' § St&11 & o o016 &= (AT i e T1 feerrat §) srer<i st 61 Saet gf
¢ et f autameT gear § 82

(a) ATX

(b) &7

() T=®

(d) i

GEESEIEED
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Q35. af¥ g7 5% 'NECESSITY' F ¢ ST ¥ g, T, T 3T S &1 T TART e AT AN T
STAYUT 915 T §, AT ST TR T SAYUT 9161 T F0AT A& 0 & | i1 a7 grm| IR 0F & aifgT e
A € AT Z T AT I S| IR A qrefen 9168 AT 99T &, AT X FH¥ TG IAC X7

(@A) N

(b)E

(©)S
(d) X

(e)Z

Q36. A Tt T #r 24 AT § T Faar g 3 B S wrd v 18 oAt # T govar g1 IR A st w1 =
FLAT & oM< AT AT F 12 B 3T T [ SATAT §, IV T 1A Fohae (<A1 § G G772

102 =
(@ -’

) 1271
() 143
(@) 1277

(@ 27

Q37.P A U&F AT # 21000 T F1 [Raer fFaT 3 $® WEH1 & 91 Q, 28000 T F TTH IH* AT [
TATI TF 99 & 3@ A P 3 Q F1 arw FFEAT I« 81 71 Ao f3F B fohaer wgi=i o a1e =799 | aniae
gl

(a) 4

(b) 2

(c)3
(d)5

(e) 6

Q38. T T I 3HTohd To 800 TIY § 3T THMSIX 39 T 10% it Fe IaT gl IS THWIL i I 9=
IR 20% FT ATH AT &, TT T FT HF T AT I o1T?

(a) 720 %.

(b) 640 =.

(c) 700 =.

(d) 600 =.

(€) 400 %.

Q39. TF &t H T 360 FTAT 1 TUHEAT I Y, Tl T A=l § q 60% 7 3T FoT A=A § 4 40% A
T I it IR T I<fred AEHE AT 665 %, 160 §, T T & T G AW Horw?

(a) 960
(b) 720
(c) 800
(d) 600
(e) 700
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Q40. T FHTTT TEATA F AT HT TT 1085 gl TIH TET HEAT ATT FfrTl
(a) 19
(b) 20
(c) 18
(d) 21
(e) 22

Q41. T T AT, TH 3 IO T UF 704w § F 74 3% WH o) RAT R R I S+, AT v F
AT 4 : 5 TAT TAT T VT Sl T TH & FAATT 3 : 2 Bl TH ST AT T 3% AT HIorQ|

(a) 30

(b) 20

(c) 24

(d) 28

(e) 40

Q42. 1A I H e ATF =t T 12 Forefi/sieT g1 afs a1 s &< o g 20 ol F o 7o 9 & o
TAT 9T 719§ &1 & Tfagar 10 Gt it o 77 F3 § A 17 9679 F @ §, av 9w b O
(FFfireer &) sa fifsw

(a) 2

(b) 4

(@6

(d)3

(e)5

Q43. AFT TAAM AL B 14 T ATAF gl 12 T8 Tgh, AR AL FBA AL A AqUI@ 2: 1 ATI AV AHY
FAAT A (9T H) 17 Ffm)

(a) 40

(b) 30

(c) 32

(d) 44

(e) 48

Q44. TF THMAR 7 T & FT 4 2450 %. Jha AT 3T a8 SH 9T 20% =X x% HT 3T HAF Ge adr
gl It Teg F1 AFT T 1470 %. §, T X T /T A1 HI1T?

(@) 12.5

(b) 25

(c) 15

(d) 10

(e) 24
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Q45. A 3T B 7 &7 S-S TISATAT W FTHTIOT ST U I A9 o forg gmer iy 71 Fae Fm A+
12% it 3T T fAaer BFFam ik B 7 18% a1ivs T & A3 FFm af® A six B it ymq a1 & fi= &1
SAY 1440 <. , T A 3 B 511 Ty fAaer it 1€ oo Tfer sra o

(a) 5400 =.

(b) 9000 =.

(c) 4800 =.

(d) 9600 =.

(e) 4500 =.

Q46. 25 AT FT AT 90 § 3T I T 25 TEATH | T 5 9&AT SISt AT g, AT ot & 5 H/r gl ar
STAT Bl TS G&AT AT A

(a) 220

(b) 240

(c) 280

(d) 300

(e) 320

Directions (47-51): 1= & % ATereT AT STAT-3TAT He Al | I (SATHS sqaret (A, B 3fi¥ C) # it
WEISTT T et HEAT F9TAT &1 3T HT AT § 9 AR FqATeAl 6 I &A1)

I AT 3rtter s

A 1505 2800 2864
B 3676 1976 2228
C 2456 2804 2408

Q47.9TH H AH Wl gU T TS HS H AT STETATAL H HAT HLSTT ol Ho G&AT T Fhe T AT (SITATHQ)
a?

(a) 25%

(b) 20%

(€) 15%

(d) 30%

(e) 5%

Q48. 7} 79 § BH Wl gU o1 WO & & 14 ART AZATY & o< s & A & weff gu et A4S 7 & 60%
AfRATE &, a1 s & A X W= § B § UHHATT WAl g¢ T T&W A 3T € # 95 § 9l g¢ o A4S %
= &7 3% 19 v

(a) 1369

(b) 1459

(c) 1469

(d) 1419

(e) 1449
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Q49. C ® ATH # W §T T« WO & 956 AIRTTY §1 I 7 & ¢ A wieff gU o 20 74, W= & CH e
ET T T/ AT & 20% AT § T9T CH 7 & WA g¢ T A4, 75 A BH WA ot ARAT Hit AT R
872 &fdr §, A1 CH S | WAl o1 AT TS I HAT AT ST

(a) 1700

(b) 900

(c) 1300

(d) 1100

(e) 1500

Q50. T H A H WAT g T AU &M, A A AT Jeqqrat A FAT g¢ AASI hl FoT G&AT & AATT F1q
e

(a)14:37

(b)28:73

(c)28:75

(d) 28:77

(e) 75: 28

Q51. S # A ¥ Wl §U T A, (A § B 3T C H WAL §U T AU Al Teha T NI (SITATEA) B2
(a) 55%
(b) 65%
(c) 70%
(d) 50%
(e) 60%

Directions (52-56): F=ferfea d&am sfgam § T9q 9&aT A1q DI

Q52. 27, 48, 80, 134, 221, 355, 538
(a) 27
(b) 355
(c) 80
(d) 134
(e) 538

Q53. 215, 200, 250, 175, 275, 150, 300
(a) 150
(b) 300
(c) 250
(d) 200
(e) 215

Q54.550, 4400, 110, 440, 24, 44, 44
(a) 24

(b) 550

(c) 4400

(d)4.4

(e) 44
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Q55.146, 145, 149, 122, 138, 15, 49
(a) 138

(b) 122

()15

(d) 146

(e) 149

Q56.1.7, 3.0, 5.6, 9.5, 14.7, 218, 29
(a) 3.0
(b)9.5
(c) 21.8
(d) 14.7
(e) 29

Directions (57-70): & {eriad =11 § Y= (?) % TIT9 9T FAT AT

Q57.256 &I 25 % + “”isﬁ
(a) 64
(b) 62
(c) 60
(d) 56
(e) 82

Xx8=74+10

Q58. 274- 141 =7 + 98

(a) 39

(b) 31

e  Prime

(d) 33

(e) 35 ALL EXAMS,
ONE SUBSCRIPTION.

Q59. 250 T 369 + 26 + 2 X 7= 207
(a) 8
(b) 5
(c)6
(d)9
(e)7

Q60. 240 X 2.5 + 65 X %: 72— /225

(a) 22
(b) 24
(c) 23
(d) 27
(e) 25
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Q61. 4080+ (?7+17)=10%2+2
(a) 23
(b) 42
(c)51
(d) 15
(e) 16

Q62_31.5 +35x12-8=72
(a) 10

(b) 25

(c) 75

(d) 100

(e) 50

Q63. 945 + 35 x 20 =7
(a) 540
(b) 550
(c) 560
(d) 570
(e) 580

Q64. 700 &1 60% —450=7-120 =1 85%
(a) 84
(b) 48
(c) 64
(d) 36
(e) 72

Q65. 30+ — +V144 x 20 =7

(a) 118
(b) 156
(c) 208
(d) 256
(e) 312

(a) 4
(b) 5
(c)3
(d)7
(e)6
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Q67.(0.9)2x 10 +2.9 =7+ 132 + 12
(a) 4
(b)3
(c) 2
(d)1
(e)0

Q68.5 T 50 FT 260 + 26 =?
(a) 2.5

(b) 2.25

(c)3.5

(d)1.5

(e)2

Q69.(132 +72) + 12 x 17 =7 +9°
(a) 208
(b) 287
(c) 370
(d) 179
(e) 168

Q70. 0.26X 50 + 132 =7
(a) 182
(b) 181
(c) 180
(d) 189
(e) 188

Directions (71-79): Read the passage given below and answer the following questions.

The onset of Covid-19 has brought to a halt an astonishing expansion of restaurants observed in the
past decade. But being deprived of restaurants has made people realise how much they value them.
Eating out fulfils needs which seem fundamental to human nature. People need to socialise, to seal deals
and to peer at their fellow humans.

People have long feasted outside the home. Before the use of coal became widespread in England in the
17th century, preparing food at home involved spending a lot on wood or peat. Today dining outis seen
as an indulgence, but it was the cheapest way to eat for most of human history. But by the 18t century,
capitalism took off, public spaces became sites of rational dialogue which were open to all. Eating out
became less of a communal activity focused on calorie intake and more of a cultural experience—and a
place where people could show off their wealth.

By the 20t century, however, cooking at home was becoming ever easier. Average house sizes grew and
appliances such as the food processor and the dishwasher reduced preparation and clean-up times.
Dining out became relatively more expensive. And yet, a few economic changes ensured that demand
for restaurants grew despite rising prices.
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One of them is immigration. Over the last century the net flow of migrants into rich countries, relative
to population, more than quadrupled. Starting a restaurant is a good career move for new arrivals.
Migrants also tend to improve the quality of an area’s restaurants. Another factor was changing working
patterns. Historically poor people have tended to work longer hours than rich ones. But in the latter
half of the 20th century the opposite became true. The upshot was that the people with the most money
to spend on dining out increasingly needed it most, since they had the least free time.

The pandemic has led to many people buying more takeout than before, while others have a newfound
love of cooking. That means still further from the utilitarian model of the 18th century and
before, and instead doubling down on what they do best: offering those who need to eat a taste of
romance, glamour, and love.

Q71. What effect of the pandemic on restaurants has been mentioned by the author in the
passage?

(a) A severe lack of essential items has hindered the supply chain of restaurants.

(b) The period during the pandemic led to a stop in the growth of restaurants.

(c) The pandemic has made people realise the allure of eating out at restaurants.

(d) Restaurants observe less customers due to a fear of lack of social distancing measures.

(e) Due to the continuous waves of the pandemic, restaurants struggle to remain open.

Q72. What compelled rich people to start eating out?
(a) Public spaces becoming safer for citizens

(b) The rise of capitalism in the market

(c) Being able to show off wealth to society

(d) Both (b) and (c)

(e) All of the above

Q73. According to the passage, why did people prefer eating out before the 17t century?
(a) Eating at restaurants was cheaper for people than cooking food.

(b) Restaurants provided a convenient way for people to have food.

(c) Restaurants catered to all classes of society while avoiding conflict

(d) Both (a) and (b)

(e) All of the above

Q74. What conundrum does the author present against the growth of restaurants the past
century?

(a) Despite the economic instability during the period, restaurants continued to grow.

(b) Restaurants were popular despite industrialisation leading to many people becoming poor.

(c) The interest in restaurants piqued in the period despite many nations being war-ridden.

(d) The growth of restaurants despite cooking becoming cheaper and more convenient.

(e) The deadly plagues during the period did not dissuade people from going out to eat.

Q75. How did migrants contribute to a rise in the growth of restaurants?

(a) Migrants added to the population of a country and thus contributed to increased consumption.
(b) A significant portion of the migrant population started restaurants in the countries they came to.
(c) Countries with a high rate of immigration gave relaxations on items of necessity for the public.
(d) An immigrant population brought with it a different culture, thus reviving interest in cuisine.

(e) Restaurants cashed up on the opportunity to serve food to an immigrant population for revenues.
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Q76. According to the passage, which of the following is true regarding the influence of changing
work patterns in the past century?

(a) Poor people stopped eating out as much as they would in the past.

(b) Restaurants improved their services to cater to more people for a longer time.

(c) Rich people having more money would want to spend more on their indulgences.

(d) People earning more often had less tome to cook food at home.

(e) Eating out for luxury became difficult for people due to lack of time.

Q77. Which of the following words can most appropriately fill the blank given in the passage?
(a) coping

(b) closing

(c) making

(d) moving

(e) living

Q78. Which of the following words is most similar in meaning to the word “flow” as is highlighted
in the passage?

(a) movement

(b) implication

(c) obstruction

(d) deduction

(e) increase

Q79. Choose the word that can most appropriately replace the highlighted word “upshot” in the
passage?

(a) reminder

(b) history

(c) requirement

(d) consequence

(e) condition

Directions (80-81): In the given question a part of the sentence is given in bold, which may or
may not be grammatically correct. Choose the correct alternative for the highlighted phrase to
make the sentence grammatically and logically correct.

Q80. Because the man is angry on the teacher, he wrote a complaining letter to the principal.
(a) is angry at the teacher

(b) was angry with the teacher

(c) were angry to the teacher

(d) is angry with the teacher

(e) No replacement needed
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Q81. A fall in demand is enough to demonstrate that consumers have forget about the product and
moved on to other products.

(a) has forgot about the product

(b) had forgotten of the product

(c) have forgotten about the product

(d) has forgotten for the product

(e) No replacement needed

Directions (82-85): In each sentence, a word is omitted. Choose the word from the given options
that can fit into the blank without changing the intended meaning.

Q82. Jeff faced many hardships in life, but he always found a way to be
(a) lethargy

(b) gloomy

(c) desperate

(d) resilient

(e) pervasive

Q83. With this rainfall, we might get flooded out.
(a) incessant

(b) irreversible

(c) indecisive

(d) amiable

(e) dormant

Q84. The plant has a pungent smell which makes it very to bees.
(a) valiant

(b) vigorous

(c) appealing

(d) robust

(e) diffusing

Q85. If the thermostat does not the temperature properly, it may not trigger

the heating unit.
(a) ramble

(b) gauge

(c) transit

(d) flush

(e) rejig
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Directions (86-90): In each of the following questions, a sentence has been divided into four
parts in which one part has an error. Identify the part that has an error and mark that part as
your answer. If all parts are error-free then choose ‘No Error’ as your correct choice.

Q86.The hospital has receive (A)/ funding for medical (B)/ devices and (B)/ clinical studies (D)/
No Error (E).

(a) A

(b) B

(@C

(d)D

(e) No Error

Q87. Aryabhata noted that (A)/ the luminosity of the (B)/ Moon and other planets are (C)/ due
to reflected sunlight (D)/ No Error (E)

(a)A

(b) B

(@C

(d)D

(e) No Error

Q88. Rainbows can been (A)/ observed whenever there (B)/ are water drops in the (C)/ air and
sunlight shining (D)/ No Error (E).

(@A

(b) B

(ccC

(d)D

(e) No Error

Q89. Indraprastha was one (A)/ of the five place demanded (B)/ for the sake of peace and (C)/
to avert a disastrous war (D)/ No Error (E).

(a)A

(b) B

(ccC

(d)D

(e) No Error

Q90. Due to climate change, (A)/ deserts are expanding, (B)/ while heat waves (C)/ are becoming
more commons (D)/ No Error.

(a) A

(b) B

(@C

(d)D

(e) No Error
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Directions (91-95): In the following questions, five sentences are given. Rearrange these
sentences to make a contextually meaningful paragraph then, answer the following questions.
(A) An insufficient amount of sleep can lead to serious repercussions.

(B) Also, it loses the abilities to concentrate, think clearly, and process memories.

(C) Sleep is an essential function that allows your body and mind to recharge and leaves you refreshed.
(D) For instance, without enough sleep, the brain cannot function properly

(E) Healthy sleep also helps the body to remain healthy and stave off diseases.

Q91. Which is the SECOND sentence after rearrangement?
(a) A
(b) B
(@C
(d)D
(e)E

Q92. Which is the LAST sentence after rearrangement?
(a)A
(b) B
(@C
(d)D
(e) E

Q93. Which is the THIRD sentence after rearrangement?
(@A
(b) B
(ccC
(d)D
(e)E

Q94. Which is the FIRST sentence after rearrangement?
(@A
(b) B
(0 C
(d)D
(e)E

Q95. Which is the FOURTH sentence after rearrangement?
(@) A
(b) B
(0 C
(d)D
(e)E
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Directions (96-100): In each question, three words are given in bold, which may or may not be
in their correct positions. Choose the correct sequence of words from the given options to make
the sentence grammatically correct and meaningful.

Q96. A wildlife (A)of an eagle was carved (B)out of wood for the sculpture (C)event.
(a) BCA

(b) CBA

(c) ACB

(d) BAC

(e) No rearrangement needed

Q97. Blood was analyzed (A)through a/an diagnostic (B)machine to figure out whether the patient
was suffering (C)from cancer or the flu.

(a) BCA

(b) CBA

(c) ACB

(d) BAC

(e) No rearrangement needed

Q98. Without any solitude (A) a/an crazy (B) is bound to go a bit introvert (C)
(a) BCA

(b) CBA

(c) ACB

(d) BAC

(e) No rearrangement needed

Q99. The allowed(A) material permeable (B)a large amount of water to seep (C)through.
(a) BCA

(b) CBA

(c) ACB

(d) BAC

(e) No rearrangement needed

Q100. The astronomer observation (A)a new star during a/an discover(B) recent(C)
(a) BCA

(b) CBA

(c) ACB

(d) BAC

(e) No rearrangement needed
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$1. Ans.(b)
Sol.

B E ¢ R A M K

S$2. Ans.(d)
Sol.

B E ¢ R A M K

$3. Ans.(c)
Sol.

B E ¢ R A M K

S4. Ans.(d)
Sol.

T B E ¢ R A M K

S5. Ans.(c)

S6. Ans.(c)
Sol. Two-R©5,H% 6

S7.Ans.(d)
Sol. 98X, 46R, 61P

$8. Ans.(b)

S9. Ans.(c)
Sol.

row 1 i

row 2 |
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$10. Ans.(d)
Sol.
R ll’ S Q T
I

rowl -+—

row 2 i i

D A C E B

S11. Ans.(e)
Sol.
R ll’ S Q T
I

rowl -+—

row 2 =
| 1

D A C E B

S12. Ans.(a)
Sol.
R ll’ S Q T
I

rowl = } }

row 2 i i

D A C E B

$13. Ans.(d)
Sol.
| [ Prime
row 1 ! ! ! ! !
ALL EXAMS,
ONE SUBSCRIPTION.
row 2 ] L

D AC EB 200 B0
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S14. Ans.(c)
Sol.
5m M 7m

8m

13m
10m

9m

$15. Ans.(d)
Sol.
5m M 7m

8m
13m

10m

9m

$16. Ans.(c)
Sol.
32547685
13355793

$17. Ans.(a)
Sol.

I: V<Z (True)
II: J<C (False)

$18. Ans.(b)
Sol.

I: 1=Q (False)
II: D=Y (True)

$19. Ans.(a)
Sol.
Floors | Persons

P | | e | ol L T | =
o= | |=w|Alo
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$20. Ans.(c)
Sol.

Floors | Persons
7

P | 0 [ [ (| O
SR |w|=|w 3K

S$21. Ans.(a)
Sol.

Floors | Persons
7

e I L Y A
oM |<=|w (2o

S22. Ans.(a)
Sol.

Floors | Persons
7

P [l | e [
=g l--R N -l P

S23. Ans.(c)
Sol.

Floors | Persons
7

el IR LR N el =]
| |w|=u|3o

S24. Ans.(b)
Sol.

Coook I eopy 3pen >4k >
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S25. Ans.(d)

Sol.

Cank W —4~Croney 3 mverest T >

$26. Ans.(e)

Sol.

Colacke_Joine 3 Fellow —¢—White
$27. Ans.(c)

Sol.

A D
B
G
F E
C
$28. Ans.(e)
Sol.
A D
B
G
F E
C

$29. Ans.(b)
Sol.

A D
B
G
F E
C


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

i

$30. Ans.(c)
Sol.

C

S$31. Ans.(d)
Sol.
A

C

S32. Ans.(e)

Sol.
(+)H=D(-) =T

E(+) — G(-)=F(+)

S(-)

$33. Ans.(c)

Sol.
(+)H=D() =T

E(+) — G(-)=F(+)

S(-)

S34. Ans.(d)
Sol.

1

DRAWINGS

=l
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S$35. Ans.(e)

$36. Ans.(b)
Sol.

Total work = 72 unit (LCM of 24 & 18)
Efficiency of A= % = 3 unit/day
Efficiency of B = E = 4 unit/day

Total work done by A in four days = 3 % 4 = 12 units
Remaining work =72 —12 = 60 units

&0 )
ey +4=12 - days

Required days =

$37. Ans.(c)
Sol.

Let Q joined business after ‘t' months
ATQ -
21000%12 1

28000%(12-¢) 1
9=12-t

t=3

t = 3 months

$38. Ans.(d)
Sol.

Selling price of the article = 800 x % = 720 Rs.

Cost price of the article = 720 x % = 600 Rs.

$39. Ans.(e)
Sol.
Let total boys in school be X
So, total passed boys in school = X X % = %
ATQ -
¥ x2=160
5 3
Z = 160
5
X=400
Total girls passed in school = (360 - 160 x %] =120

Total girls in school = 120 X % =300

So, total students in school = (400 + 300) =700
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$40. Ans.(b)

Sol.

Let three consecutive numbers be (n - 1), n and (n+1) respectively
ATQ -

(n-1)2 + n? + (n+1)2 = 1085

3n?+2=1085

3n?=1083

n?=361

so,n=19

largest number = (19+1) =20

S$41. Ans.(b)

Sol.

The ratio of marks obtained by Ria, Pooja and Ram respectively
Ria: Pooja= 4:5

Pooja: Ram=3:2

Ria:Pooja:Ram=12:15:10

So, marks score by Ram = 74 X 20

(12+15+10) =20

S$42. Ans.(b)
Sol.
Let speed of stream be 'y’ km/hr.
ATQ -
20 10
(12+y)  (12-y)
24 -2y=12+y
3y =12
yv=4

$43. Ans.(a)

Sol.

Let present age of A and B be 'a’ & b’ respectively
Given,a-bh=14

a=14 +b--- (i)

ATQ -
a=12 _2
b-12 1

a-12=2b-24

a=2b-12 - (ii)

Form (i) & (ii) we get

14+b=2b-12

b=26

So, present age of A= 26 + 14 = 40 years
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S$44. Ans.(b)
Sol.
ATQ -
(100-20) _, (100-x) _

2450 x X = 1470
100 100

(100—a)
100

1960 X

(100—x) _3

100 4
x=25

= 1470

$45. Ans.(d)

Sol.

Let each A and B invested Rs. X
ATQ -

18x5 12x5

Xx —X X =1440
100 100

KX L= 1440
100
X =4800 Rs.
So, total amount invested by A and B = 4800 + 4800 = 9600 Rs.

$46. Ans.(a)
Sol.

Sum of the 25 numbers = 25 x 90 = 2250

When a new number added then total = (90 +5] X 26 = 2470
So, new number = 2470 - 2250 = 220

$47. Ans.(b)
Sol.
. _ 1505
Required percentage = Z8841222812408) » 100
=150 100 = 20.06 ¥ 20%
7500
$48. Ans.(c)
Sol.

Total male patients admitted in A in April = 2800 x % = 1120

Total male patients admitted in B in March = 3676 X % = 2757
Required difference = (1120 + 2757) —2408 = 1469

$49. Ans.(c)
Sol.

Total male patients admitted in C in March = 2456 - 956 = 1500

So, total male patients admitted in C in June = 1500 % % = 1800

Total female patients admitted in C in June = (2228 + 872) - 1800 = 1300
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$50. Ans.(c)
Sol.

Required ratio = 2800 : (2864 + 2228 + 2408) = 2800 : 7500 = 28

S$51. Ans.(e)
Sol.

Total patients admitted in B & C in April = (1976 + 2804) = 4780
Required percentage = % »% 100 = 59.91 & 60%

S$52. Ans.(b)

Sol.

Wrong number = 355
Pattern of series -

27 48, 80, 134, 221, 352, 538
+21 +32 +54 +87 +131 +186
+11 +22 +33 +44 +55
$53. Ans.(e)
Sol.

Wrong number = 215

Pattern of series -

There are two alternate series
Oneis- 225+ 25 =250

250+ 25 =275

275+ 25 =300
Secondis-200-25=175
175 -25=150

S$54. Ans.(a)
Sol.

Wrong number = 24

Pattern of series —

There are two alternate series
Oneis-550+5=110

110 +=5=22

22+5=44

Second is - 4400 + 10 = 440
440+ 10 =44

: 75
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$55. Ans.(c)

Sol.

Wrong number = 15
Pattern of series -
146 - 13 =145

145 + 22=149

149 -33=122
122+ 42=138
138-53=13

13 +62=49

$56. Ans.(c)

Sol.

Wrong number = 21.8
Pattern of series -
1.7+ 1.3=3.0
3.0+26=56
5.6+3.9=95

9.5+ 5.2=14.7

14.7 +6.5=21.2
21.2+78=29

$57. Ans.(b)

Sol.

256 4
el L =7
R -I-4><B 71410

64 +8=7+10
7=62

$58. Ans.(e)

Sol.

?7=274—-141 —98
7= 35

$59. Ans.(d)
Sol.

2° w2504 2 x7=207
100 2

13 7= 207 —90

7=9

ALL EXAMS,
$60. Ans.(e) ONE SUBSCRIPTION.
Sol.

600 + 10 +15 = 72 @ GJ
7=25
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S$61. Ans.(a)

Sol.

4080 + 7+ 17)=102+ 2
4080

100+ 2
?=23

= (7417)

S$62. Ans.(a)

Sol.
31.5+35%x12-8=72
31.5x12 _

3.5
100 =72
?7=10

8 =72

$63. Ans.(a)

Sol.

22 w20 =27
35

7= 540

S$64. Ans.(e)
Sol.

2% % 700 — 450 + — x 120 =?
100 100

420 — 450 + 102 =7
=72

$65. Ans.(e)

Sol.

3Dx§+12>< 20=7
?7=312

$66. Ans.(a)

Sol.
2

4 1
?={2+4—3)+(§+———+

3 3
7=34+1
7=4

S$67. Ans.(e)

Sol.
8.1+ 2.9=7+11

7=0

S$68. Ans.(a)
Sol.

25 50 %5 X—=?
100 6
7=25

16
21

)
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$69. Ans.(a)
Sol.

204
== =7
- x 17 =7+481

289 =7 +81
7= 1208

$70. Ans.(a)

Sol.

2% % 50 + 169 =?
100

13 4+ 169 =7
?7=182

S$71. Ans.(b)

Sol. Refer to the first line of the first paragraph in the passage for justification. “The onset of Covid-19
has brought to a halt an astonishing expansion of restaurants observed in the past decade.” Although
the statement given by option (c) is a correct statement according to the passage, it does not answer
the question, which only asks about the effect of the pandemic on restaurants. The other statements
are simply not mentioned as an issue faced by restaurants in the passage.

$72. Ans.(d)

Sol. Refer to the following lines in the second passage for justification of the answer. “But by the 18th
century, capitalism took off... people could show off their wealth.”

The statements given by option (b) and (c) can be corroborated from these lines, but the statement
given by option (a) cannot find a reference in the passage. Thus, option (d) is the correct answer.

$73. Ans.(a)

Sol. Refer to the following lines in the second paragraph for justification of option (a) as answer.
“People have long feasted outside the home... to eat for most of human history.” Options (b) and (c) find
no mention in the passage as reasons for choosing restaurants over cooking during the time, and thus,
are eliminated.

S$74. Ans.(d)
Sol. Refer to the entirety of the third paragraph for justification of option (d) as the answer. None of the
other options give a suitable answer to the question.

$75. Ans.(b)

Sol. Refer to the following lines in the fourth paragraph for justification of option (b).

“One of them is immigration. Over the last century the net flow of migrants... the quality of an area’s
restaurants.”

$76. Ans.(d)

Sol. Refer to the following lines in the fourth paragraph for justification of option (d).

“Another factor was changing working patterns. Historically poor people... since they had the least free
time”
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$77. Ans.(d)

Sol. cope - to deal with and attempt to overcome problems and difficulties
close - to move so as to bar passage through something

make - to bring into being by forming, shaping, or altering material

move - to proceed toward a certain state or condition

live - to maintain oneself

$78. Ans.(a)

Sol. flow - a smooth uninterrupted movement or progress
movement - the act or process of moving

implication - something implied: such as

obstruction - the state of being obstructed

deduction - the state or fact of being destroyed

increase - made or become greater

$79. Ans.(d)

Sol. upshot - the final result

reminder - something that calls a memory or thought to the mind

history - an established record

requirement - something wanted or needed

consequence - a result or effect

condition - a premise upon which the fulfilment of an agreement depends

$80. Ans.(b)

Sol. The correct replacement for the highlighted phrase is (b)

The given sentence is in past tense, thus ‘was’ should be the correct helping verb. “Angry with” is the
correct phrasal verb as when directed at a person "angry with" should always be used. If directed at a
situation or thing, "angry at" would also be acceptable.

$81. Ans.(c)

Sol. The correct replacement for the given phrase is option (c)

Here, ‘consumers’ is plural thus plural verb ‘have’ should be used. Also, the structure for present perfect
tense is ‘has/have+ V3’

$82. Ans.(d)

Sol. The correct word that can fit into the given blank is ‘resilient’.

Lethargy: a lack of energy and enthusiasm.

Gloomy: causing or feeling depression or despondency.

Desperate: feeling or showing a hopeless sense that a situation is so bad as to be impossible to deal with.
Resilient: able to withstand or recover quickly from difficult conditions.

Pervasive: spreading widely throughout an area or a group of people.
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$83. Ans.(a)

Sol. The correct word that can fit into the given blank is ‘incessant’

Incessant: continuing without pause or interruption

Irreversible: not able to be undone or altered.

Indecisive: not providing a clear and definite result.

Amiable: having or displaying a friendly and pleasant manner.

Dormant: having normal physical functions suspended or slowed down for a period of time

$84. Ans.(c)

Sol. The correct word for the blank is ‘appealing’

Valiant: possessing or showing courage or determination.

Vigorous: strong, healthy, and full of energy.

Appealing: attractive or interesting

Robust: strong and healthy; vigorous.

Diffusing: spread over a wide area or between a large number of people.

$85. Ans.(b)

Sol. The correct word for the given blank is ‘gauge’

Ramble: walk for pleasure in the countryside.

Gauge: an instrument that measures and gives a visual display of the amount, level, or contents of
something.

Transit: an act, process, or example of passing through or over

Flush: become red and hot, typically as the result of illness or strong emotion.

Rejig: organize (something) differently; rearrange.

$86. Ans.(a)
Sol. In part (A), ‘receive’ should be replaced with ‘received’ as we use third form of the verb after
‘has/have/had’.

$87. Ans.(c)
Sol. In part (C), helping verbs ‘are’ should be replaced with ‘is’ for noun ‘luminosity’.

$88. Ans.(a)
Sol. In part (A), ‘been’ should be replaced with ‘be’ because ‘can’ is a model verb which is always
followed by infinitive.

$89. Ans.(b)
Sol. In part (B), ‘place’ should be in plural form because phrase ‘one of’ is always followed by plural
noun.

$90. Ans.(d)

Sol. In part (D), ‘commons’ should be replaced with ‘common’ because we need an adjective here which
is always used in a singular form.

Commons: the cultural and natural resources accessible to all members of a society
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S$91. Ans.(e)

Sol. The passage is mentioning the importance of sleep. Therefore, statement (C) will be the first
statement of the paragraph as it introduces the theme and is an independent statement. Next will be
statement (E), which mentions the benefits of proper sleep. Statement (E) then will be followed by
statement (A), which mentions that insufficient sleep has serious repercussions. The fourth sentence of
the paragraph will be statement (D), which mentions the consequences of improper sleep. In statement
(B), the word ‘also’, states that it will follow statement (D) and mentions further side-effects of improper
sleep. Hence the correct sequence of the statement will be ‘CEADB’.

$92. Ans.(b)

Sol. The passage is mentioning the importance of sleep. Therefore, statement (C) will be the first
statement of the paragraph as it introduces the theme and is an independent statement. Next will be
statement (E), which mentions the benefits of proper sleep. Statement (E) then will be followed by
statement (A), which mentions that insufficient sleep has serious repercussions. The fourth sentence of
the paragraph will be statement (D), which mentions the consequences of improper sleep. In statement
(B), the word ‘also’, states that it will follow statement (D) and mentions further side-effects of improper
sleep. Hence the correct sequence of the statement will be ‘CEADB’.

$93. Ans.(a)

Sol. The passage is mentioning the importance of sleep. Therefore, statement (C) will be the first
statement of the paragraph as it introduces the theme and is an independent statement. Next will be
statement (E), which mentions the benefits of proper sleep. Statement (E) then will be followed by
statement (A), which mentions that insufficient sleep has serious repercussions. The fourth sentence of
the paragraph will be statement (D), which mentions the consequences of improper sleep. In statement
(B), the word ‘also’, states that it will follow statement (D) and mentions further side-effects of improper
sleep. Hence the correct sequence of the statement will be ‘CEADB’.

$94. Ans.(c)

Sol. The passage is mentioning the importance of sleep. Therefore, statement (C) will be the first
statement of the paragraph as it introduces the theme and is an independent statement. Next will be
statement (E), which mentions the benefits of proper sleep. Statement (E) then will be followed by
statement (A), which mentions that insufficient sleep has serious repercussions. The fourth sentence of
the paragraph will be statement (D), which mentions the consequences of improper sleep. In statement
(B), the word ‘also’, states that it will follow statement (D) and mentions further side-effects of improper
sleep. Hence the correct sequence of the statement will be ‘CEADB’.

$95. Ans.(d)

Sol. The passage is mentioning the importance of sleep. Therefore, statement (C) will be the first
statement of the paragraph as it introduces the theme and is an independent statement. Next will be
statement (E), which mentions the benefits of proper sleep. Statement (E) then will be followed by
statement (A), which mentions that insufficient sleep has serious repercussions. The fourth sentence of
the paragraph will be statement (D), which mentions the consequences of improper sleep. In statement
(B), the word ‘also’, states that it will follow statement (D) and mentions further side-effects of improper
sleep. Hence the correct sequence of the statement will be ‘CEADB’.
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$96. Ans.(b)

Sol. The correct rearrangement of the highlighted words is CBA.
Thus, the correct sentence will be, “A sculpture of an eagle was
carved out of wood for the wildlife event.”

S97. Ans.(e)

Sol. All the highlighted words in the given sentence are correctly ALL EXAMS
placed. Hence, no rearrangement needed. ONE SUBSCRIP"i'I ON.
$98. Ans.(c)

Sol. The correct rearrangement of the highlighted words is ACB
Thus, the correct sentence will be, “Without any solitude, an
introvert is bound to go a bit crazy.”

$99. Ans.(d)

Sol. The correct rearrangement of the highlighted words is BAC

Thus, the correct sentence will be, “The permeable material allowed a large amount of water to seep
through.”

$100. Ans.(a)
Sol. The correct rearrangement of the highlighted words is BCA
Thus, the correct sentence will be, “The astronomer discovered a new star during a recent observation”
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